log1o (Torw)

0
25 S0 =8 Yo Us Yo

\Ioglo (on)
0o _ O
S

AN
0
o

.&7

~o

_Light Curve of cont

8F :
s ‘; .
6'_ ‘ ¢ v N
X i ®
= t g b
ER . * m _
¢4 ¢ h
4 + =
3¢ -
0 500 1000 1500 2000 2500 3000 3500 4000
Time [d]
~0.11+32¢
0.09 10l g T —
; Data-based PS
o x Model PSD
Bi d PSD
: ~{_ —]— Binne
1073 F
QL) 10—4_
=
o
o 10—5_
0.81+9-32
| E |i T 10—6_
: 1077
— ..... T T T | T PO PR P T I T T |E.. . el . . . . . Cnd .
P A2 D950 ,9 O G P ot D A© 10~* 1073 1072 1071

/Q’ Q: Q7 ©
log10 (Oprw)

log10 (Torw)

N
N

log1o (0On)

/Q~ /0. /Q. /Q;

Frequency [d™!]




